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Which of the f. .
ollowing j
the vitamin B compll:f?ls NOta member of

Eé; l1:“hli-arr'1ir¥e (B) Riboflavin
olic acid (D) Ascorbic acid

: Which blood vessels hay
diameter? :

(A) Capillaries (B) Arterioles
(C) Venules (D) Lymphatic
Which of the following is an air-borne
disease?

(A) Measles (B) Typhoid

(C) Pink eye (D) None of the above

4. Which of the following hormones is a
steroid? .
(A) Estrogen (B)-Glucagon
(C) Insulin (D) Oxytocin
S. An electron possesses a negative charge
of:
(A)16x10"°C  (B) 1.60x10"° C
(©26x10°C  (D)18x10"°C
6. How many electrons taken together make
one coulomb? :
(&) 6.25 % 10'® electrons
(B)3.25 x 10'® electrons
(C) 2.25 % 10'® electrons
(D) 4.25 x 10'® electrons
7. Oneohmis equal to:
(A) 1 volt/ lampere
(B) 1 volt/ 1 coulomb
(C) 1 volt x 1 ampere
(D) 1 volt X 1 coulomb

e the smallest

g, In which form the chemical compound
RDX is used? :
(A) As an composition
(B) As an reactor
) As an cxplosive
?g) As an nuclear weapon

9 Bio-chemical compounds are used as....

(A) Skin Treatments

(B) Food preservatives

©) Cooking Qils

(D) All of the above
Which of the following ingicator used in
determination of hardness:

10.

EBT (B) Phenolphtlhalein :
Eé)) Methyl orange (D) Thymol blues

10.

TR ¥ .
T TE 2 B e @ whra o
(A) amgfas
(B) WrzaIwafas
© 9ifsw whre (D) weatfie wRre

{55 X RPN o1 @ wew Brer B 27
(A) i3y (B) et
(C) RrfRary (D) aife

frefafaa # @ w—ar arg wfea I 82

GACK (B) T3S

(C) et 3 (D) SGRIE F A P T
fy=feRag # & @ a1 gEHA ®IEs 87

(A) TS (B) e[

(C) ggfer (D) SifeieIR

T SAgET T FOHD AAY B &
(A) 16 x107"° ¥ (B) 1.60 X 10 ° I
(C) 26 x 10 < (D) 1.8 x 10 ° ¥

fra goaet @R T Hierd aHd 87
(A) 625 x 10" Feragid
(B) 325 x 10" agA
(C) 225 x 10" FATGHA
(D) 425 x 10" FoIdZlT

(A) 1dee /1THIRR
(B) 1dlee /1T
(C) 1dTee X 1THIIRR
(D) 1diee X 1PIcT
Rt A RDX &1 SwiiT 6wy wd 4
fopar ST 87
(A) T&h T & w7 H
(B) td Ruaer & wU #
(C) W& feplcd & wu #
(D) U URHY] BORIR & w9 H
(A) I SUAR
(B) @rer et
(C) TFI U™ & o
o : .
B UG BT e &7 q 3w doas

(A) (B) Baremaiferm
(©) Perest siRsi (D) errgeiver aogor
/OT/SET=C
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(C) o IRYR Uahe

(D) T (A) 3R (B)
g 1s the largest unit | 12, fr # & F9—l wRS &) 999 T IFE

8?
B) KB (A) Sy (B) @l
2rkE (v (D) &t
» permanently stored | 13, HRITH S 8SdWR $ Y H WS dR ® 49 #
m of hardware is FURIT BT B & Y H S o 2
? (A) TTERR (B) wacda
B) Software (C) BHRR (D) IR
D) Romware : ,
rocess of dividing a | 14. o, BT 7 @R gy ¥ WA
ectors. BT BT BT ‘ |
‘B) Formatting (A) e (B) BT
‘D) AllOttiI’lg . (©) FatiLE (D) T
:nt memory built into | 15. 3P dYeR F [T g 498 @1 FaT BET
2 ST 87 o
(B) Floppy (A) = (B) weirdt
(D) ROM . (C) iy, (D) ¥
puter screen is made | 16. T® DY WIH TR Tdh Bfd....... Gl
............. | afged | 9 I 2
(B) Pixels (A) d15¢ (B) fUaaed
(D) Palette (C) fae (D) Yere
inch (DPI) measure? | 17. (DPI) Sfcw ufd g9 @ar |l 87

(A) faca & g
; on a computer (B) PR B W fudqd &1 g7

' (C) fo@ W fdcw @1 #9d

n the disk (D) =< @ W GIET B wgel Bl
-aphic file stored on gaed
sed type of database | 18. STCTdd Frorie RIveH & 999 @Ud B |
is: ‘ WAl fpar 747 TRy &

(A) Tele v
se (B) Aedd STCd¥
ase (C) Rerera srerdd
abase (D) UETm SEmEd
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application
> client computer.
3) Front end

J) Java

»f following crop
B) Wheat
D) Maize

commonly known as
B) Red gram
D) Green gram

ion in mungbean
(B) Hypogeal
(D) Epi-hypogeal

ST per cent

(B) 30
(D) 10
mally contains
yrotein and

(B) 25 and 45

(D) 35 and 50
(T — family

(B) Malvaceae

(D) Lineaceae
O MEANS. . enverrenersnees .
e buds in the axil of

aves
rminal buds

............................

oe

nitiation stage
age

ge

ariety of following crop

(B) wheat
(p) Gram

20. TP D2 [ LA UGN ATIC IR
ST derge PCy @ WAC B AU s
2|
(A) ¥ TS (B) T T&

(C) | (D) Sirar

21. Srir_a7 T Ry P B T B
(A)TTCﬁ?ﬁ (B) &,
(C)‘Tém (D) #HIPT

59 aRER (A AEY) PI SN W
................... & wY ¥ ST ST 8
(A) &l I (B) et gl
(C) el =l (D) &1 Fdl

23, T & dier SR P HPI
(A) ........... - |
(C) BTgH-TfelieT (D) Tfi-

24. |AEH H...... aferere rE AT gl @
(A)20 (B) 30
(C)4O E (D) 10

25. Wzﬁmﬁmwﬁ ...... EIGNK]
e 3R ... yfderd a4 UrdT Sl 8§
(A) 20 3IR 45 (B) 25 3T 45
(C) 30 3R 50 (D) 35 3iR 50

26. FUN ....... TRIR ¥ AT &

(A) aftst (B) AT
(C) s (D) ferh

27. ddre H ST’ Bl HIdd ...
(A) uferat @) g8 # wfert 1 gemr
(B) uferat @Y gemr ‘

(C) efimar wferat &1 germr
(D) gfxrai &1 STerr

28. ‘2,4 -9 .....2
(A) dredrEs
(B) W1 Xelesd
(C) My Rersew
(D) A ik B

29. ¥ ¥ el R . |
e A
(A) T8 Fvoy
(B) %137 % ey zor
(C) 9577 3reery

30 Y
. YIS 3765 f3
......... 5“’“%?%@@%@
(A)wger
(C) Wt (B) g




gin of "Bhadavari® buffalo

(B) Haryana
(D) Uttar Pradesh

Owing bovine animals of
reed is

(B) Amrit Mahal
(D) Kankrej
scabies fever in animals is

1
" these
the following grain-food is
h cow to protect its body?
(B) 2-2.5 kg.
(D) None of the above
first calf of a hybrid heifer

ionths (B) 24 to 30 months
onths (D) None of the above

ollowing is a foreign breed
(B) Ongole
(D) Kangayam
following is a breed of
(B) Devani
(D) Gir
best basis for sorting
ig bulls is-
y (B) Texture
(D) Breed
following is a milch breed of
(B) Sahiwal
(D) Dangi

m percentage of fat in the
davari buffalo’ is-

(B) 9.0%

(D) 13.0%

31.

32.

33.

34.

5.

36.

37.

| 38.

39.

40.

- (A)8.0%

“MeTadl ¥ &1 Il WM 8-
(A) U (B) gRarom
(C) TR (D) SR g

IR & Maeig ggEil’ # ward feero
T B—

(A) IRURHY (B) 3rgaHEd
(C) BRamom (D) BIdHA
agell # el @R 1 AT BT B
(A) fawrey g

(B) Sfrare g1

(C) UIeISrR grRT

(D) 379 & fdt & |1 g1 T8l

TP QU T B 3D RN & ferv =
H A frar TH—emER fear ST &7

(A) 1-1.5 b4, (B) 2—2.5 T4,
(C)3—35 fbam. (D) SWIad # & dIg 78l
T AR ST B YA AT B A Bl 8
(A)20 W 24 w18 (B) 24 ¥ 30 A '
(C)36 W40 A8 (D) SWIGd H ¥ DIy &l

foer # fagel T~ &1 T BT 87

(A) ot (B) 3T
(ORISIKIE (D) SrTraTH
ﬁwﬁﬁaﬂ?—ﬁﬁ “MIRATal T @ A 87
(A) BIHS (B) Ta=

(C) Raeemd D) fir

IR 28—

(A) Temae (B) g4mae

(C) mdrR (D) =<1

1 % & B g et @ T 22
(A) Hard (B) Ardaret

(C) Arerdr - (D) iy

‘Ut W B gy
NN E H T PT 3fremay yfererd
(B) 9.0%

(©) 11.0% (D) 13.0%




Direction (41-42) In these questions, some | 48.

sentences are given with blanks to be filled with
an appropriate word (s). Four alternatives are
suggested for each question. Choose the correct
alternative one of the four

41. Evenif two horses may look , they | 49,

may not be of the same age.
(A) comparable (B) alike
(C) only same (D) None of these

42. We cannot go on strike every year. Now  (50.

that we have gone on strike we must

“this issue.
(A) cross (B) clinch
(C) culminate (D) co-ordinate

Direction (43-44) In each of the following
questions, find the correctly spelt word.

43. (A) Reannaisance (B) Renaissance
(C) Rennaissance (D) Renaisance

44, (A) Recommandation
(B) Recommendation
(C) Recomandation
(D) Recomendation
Direction (45-46) : In these questions, a
sentence has been given in Active/Passive
Voice. Out of the four suggested alternatives,
select the one which best expresses the same
sentence Passive/Active Voice.

45. They will demolish the entire block.
~ (A) The entire block is being demolished.
(B) The block may be demolished
entirely.
(C) The entire block will have to be
demolished by them
(D) The entire block will be demolished.
46. This surface feels smooth.
(A) This surface is felt smooth
(B) This surface is smooth when it is felt
(C) This surface when felt is smooth
(D) This surface is smooth as felt

Direction (47-48) Out of four alternatives,
choose the one which is similar to the meaning
of the given word.
47. FOSTERING
(A) Safeguarding  (B) Neglecting
(C) Ignoring (D) Nurturing

PROPEL
(A) Drive (B) Jettison
(C) Burst (D) Acclimatize

Fill the blanks with the right pair of words:
A mother has to.......... the pangs of
giving......... to her child.

(A) Bear, birth (B) Bare, berth

(C) Bare, birth (D) Bear, berth
Select the right modal for the blank:

Walking on the beach, we.......... sight of a
strange bird.

(A) Catch (B) Catching

(C) Caught (D) Catched -
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52.

53.

54.

55.

56.

il

58.

21 a1 5000 & ART W 4% AE R F 13
- ad ¥ Tergly @S BT TR AT EY

Wﬂwml,wma}—;—,@m
o 2, 7w W o ¥

(A) 25 (B) 150

(C) 175 (D) 200

98 ST eI QU S Y (O 392
aﬁ‘l”ﬂcbﬁﬂ?gumtmwtgﬂ‘faﬁm%‘?
(A)6 (B)5

©3 (D)2

a8 R[Aqq der @ g O 4, 6, 8, 12 A1
;@(ﬂméﬁwwﬁﬁﬁa‘cﬁﬁzmm
? o

(A) 46 (B) 48

(C) 50 - (D) 56

T IR U ¥ BT Al 105 THA H E
2 @ IW 9% @ B B B 30% M
FUR B fTT 9 avg @) b BT W 9Tl
aTfRy?

(A)%. 126 (B) %. 144

©% 150 (D)% 139

Ife s aifie orerar o aifie wHTAfoTd

(A)%. 2.04 (B) ®. 3.06
(C)%. 8.30 (D) ®. 4.80

R AT Ugat A 3R B @I 3Mg &I FUTd 2
. 3 o 3R AR W a1 I§-5 ¢ 7 B ST B

meﬂﬁaﬁﬁﬁmﬁrﬁaﬁ?

(A) 36 T 3R 40 ATA 0

(B) 32 AT 3R 48 ATA YR "

(C) 40 AT 3R 56 T g\;\ 4

(D) ss @@ R sz e ©

5 7Y Uh HM P 6 f&Al # B Ahd

Srafer 10 Afzerd S B @1 5 faAl H B

FHpdl §1 5 ARATY 3R 3 Y&y I BH Bl

fopea fo=t # qRT BNA? ,

(A) 4 fa= (B) 5 fa=

(C) 6 f& (D) s faw

100 A1 ol YRl 30 AT /HeEr @I oAre

A T W B e B B fpe WS TP

wfdd @ IR FT H qM wHI (Wpvs )

Sa SIS | ‘ A

(A) 10 AHTS (B) 11 WU Y

(C) 12 WHTS (D) 15 A&vS 2 *‘69\/
M

3 i



59. The average monthlAy income of A and B

60.

61.

62.

63.

64.

65.
66.

67.

- (C) R.S. Narula

is Rs. 14000, that of B and C is Rs. 15600
and A and C is Rs. 14400. The monthly
income of C is:

(A) Rs 16000 (B) Rs 15000

(C) Rs 14000 (D) Rs 15500

The height of a conical tank is 60 cm and -
the diameter of its base is 64cm. The cost
of painting it from outside at the rate of
Rs.35 per sq. m is:-

(A) Rs 52.00 approx (B) Rs 39.20 approx
(C) Rs 35.20 approx (D) Rs 23.94 approx

In which district of Haryana is the urea
plant located? -
(A) Hisar
(C) Rohtak
NH-71A connects which two cities of . @
Haryana? ?¥
(A) Rohtak-Karnal Y

(B) Rohtak-Ambala

(C) Rohtak-Panipat

(D) Rohtak-Faridabad

Nahar Wildlife Sanctuary is located in
which district of Haryana?

(A) Rewari (B) Mahendragarh

(C) Palwal (D) Mewat

Who was the first Governor of Haryana
state? '

(A) Dharma vira

(B) Dhanik Lal Mandal

(B) Sirsa

(D) BN Chakravarthy

As on 2021, The Place of Haryana in
India in terms of area is ?

(A) 19th (B) 20th

(C) 21st (D) 23rd

Which famous folk dance of Haryana is
performed by both Men & Women?
(A) Tij Dance (B) Loor Dance
(C) Khodia Dance (D) Phag Dance
Who designed the High Court building of
Chandigarh?

(A) Edwin Lutyens

(B) Le Corbusier

(C) Laurie Baker

(D) Both (A) and (B)

- (D) Panipat t

9,

60.

61.

62.

63.

64.

65.
66.

67.

A T1 B @t 3frd WIS 3mg 5. 14000,87
T C @ 3ffgd AivYS 3T . 15600 Ud C
T A @) aigd ATRIG 3T B, 14400 21 C
D ATRYD 3T ST P

(A) %. 16000 (B) ®. 15000

(C)?? 14000 (D) =. 15500

YFITHER UE B SAls 60 AU TAT IHSD
YR BT @A 64 AN, B ISP fodd g
F %, 35 U M2 P X W WA BT @I I
P?

(A) 9T %, 52.00 (B) oITHIT %, 39.20

(C) 9T 3. 3520 (D) o9 %, 23.94

e W s & e forer # Rerdt &7
(A) R (B) Rz
(C) Agad (D) urirad

W—?ﬂ%ﬁﬂﬁﬂﬁ%aﬁmaﬁvﬂw
89

(A) W—W

(B) RIgddh— 3T T

(@) EdH—UTTud

(D) JBdh—wIardr

ATEN g IIRYY gRATOT & fha el

H Rerg 87

(A) Xarst (B) A25Tg

(C) udaed (D) #ard

BRI ST & Ygel IqTd B 9°
(A)Hﬂﬁm

(B) uf® T Hedl
(C) 3R.UA. T
(D) 10T Tehad!

2oz1waﬁma%q%ﬁwﬁgﬁwn
BT XA BT AT g ?

(A) A9dr (B) 20a1

(C) 21ar (D) 23at

BRET 1 B W@ uRig A T g ok
AResl S gwT foar ST &?

(A) forst o (B) TR T
C)@ifear @@ (D) T 74

4RI & Soa AT aT BT (¥TgT
fhas R fdar ar?

(A) Tsfa= Fﬂ%’ﬂ'ﬁ ' N
(B) & $V|€j|3121? (Xﬁ

(C) A da% Vb(’g

(D) =T (A) 3R (B)




68.

69.

70.

¥l

Wis

(A) Smile

T

74.

P05

Haryana is divided into how many

divisions? -

(A) 4 ..(B)6

(C)8 ‘ (D) 10.

Tomb of Ibrahim Suri is situated in?

(A) Narnaul (B) Bhiwani

(C) Rewari (D) Yamunanagar

Deer Park is situated in which of the

following place of Haryana?

(A) Meham (B) Safidon

(C) Kalanor (D) Kharkhoda

In the following questions, select the

related word from the given alternatives.
Touch : Feel : : Greet : ?

(B) Acknowledge

(C) Success (D) Manners

Rajiv is the brother of Atul. Sonia is the

sister of Sunil. Atul is the son of Sonia.

How is Rajiv related to Sonia?

(A) Nephew (B) Son

(C) Brother (D) Father

If " — " stands for divisions " + " stands
for subtraction, " + " stands for
multiplication, " X " stands for addition,

then which one of the following equations
is correct?

(A)70—2+4—:—5 X 6 =44
(B)70—2+4—:—5><,6=21

(C)70—2+4—:—5 x 6 = 341
(D)70——2+4+5><6=36

In the following question, select the one
which is different from other three
alternatives. ;

(A) 40 — 5 (B) 60 — 12
(C)32—4 - (D)88 — 11

m his office and goes 5
¢ turns to the left and
“km. Again he turns left

A man starts fro
km east. Then, h

again walks for 3 ki | ‘
5 km. At what distance 1S he

and walks
from the starting point?

(A) 3 km (B) 4 km
(C) 6 km (D) 7 km

76. Find the missing number.

33,28,24,7,19, 18
(B) 22~

A) 21
- (D) 23

(C) 20

68.

69.

70.

71.

Tz

73.

74.

13

76.

gﬁmmaﬁﬁ*nﬁﬁmﬁmﬁﬂm%‘?

(A)4 (B) 6

(C)8 (D) 10

SaTR S T ABEN PEl AT &7

(A) TRAA (B) faart

(C) Yarst (D)THATTIR

faeor Ui BRATT @ freferad 7 9 few

I ) Rera 87 o

(A) 7&q (B) AHIGIA

(C) Bk (D) @R@ENRT

Rrder - A1y fav T fawed # A AT T

S HIfTY |
WIWWI::W ?

(A) HXBTT (B) TR &=l

(C) |Aefct (D) frer=amr

% arger W @7 g 8, @ a8 et i@
<iia @1 AT A T w57

(A) FlTSTT (B) I3

(C) wrg (D) foam

g aef R TEm, XHT s § Sire ar

ﬁmﬁﬁ@ﬁﬁﬁaﬁ:{wmﬂé‘r%?

(A)70—2+4—:—5><6=4‘4
(B)70—2+4—:—5><6_—__21
(C)70—2+4+5><6=341
(D)70 —2+4+ 5% 6 =36
FrefarRad ¥ O w99 SIS Bl ¢fey
i S T B o # e (99 e
Tel B

(A) 40 =5 (B) 60 — 12
(C)32-4 (D) 88 — 11

ﬁs%#ﬁ R 87 A ,
(A) 3 fHn (B) 4 fael.
(C) & forl (D) 7 faein

forer soft gl AT S IR
©33,28,24,7,19718 .,

(A) 21 . .(B)22

(©) 20 (D) 23

.
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78.

If ‘LIBERALIZATION’ is coded as
34256134918470, then
*AERATION can be coded as:

(A) 15168470 (B) 1518647
(€) 15618470 (D) 51618471

In this question two statements are given
followed by two conclusions I and II.
You have to consider the statements to
be true even if they seem to be at
variance from commonly known facts:
You have to decide which of the given
conclusion, if any, follows from

the given statement.

Statements

I. Some birds are clouds

II. Horse is a bird

Conclusions

I. Some clouds are birds

I1. Horse is not a cloud

(&) Conclusions I follows

(B) Conclusion II follows -

(C) Either conclusion I or II follows
(D) Neither conclusion I nor II follows.

7.

78.

Ife*LIBERALIZATION® &I Td & |l
¥ 3456134918470 oI Y, a1 I &<
wrer 4 ‘AERATION® @ fore webm foram
SITeT?

(A) 15168470
(C) 15618470
fy=foRad g®

(B) 1518647
(D)51618471
g § @ gaqal @ 3

2 frepd 1 ok 11 R 7 &1 39 9Ty

maﬁﬁmm'wﬁﬁmaﬁ
eaTe, el WAEAR ¥ | o qa d e
foo o frepst § @ @E-w, AR P €
fow g aaeral ¥ e 2|

A

[ oo uel acd 2|

1. ®ver weft 21
s -

[ oo acd @l 2

1. e aredl T8l & |

(A) frspd [ Fear 21

(B) frepd 11 faerar €1

(C) forsd 1 arerar [IfFaeran & |

(D)mghﬁfzﬁélsﬂ"\fmé’rﬁ&ﬁéllﬁm
|

79 In a row of boys, Srinath is 7" from the | 79. TSP BT TP Ul H A qrd @ wredt 8
left and Venkat is 12" from the right. If qerr dpe ¢ § qREdl | A d Ul I
they interchange their positions, Srinath g o, a1 Ay ag | 20d W W&l
becomes 22™ from the left. How many ST &1 e # gt fean dse €7
boys are there in the row? A)19 (B) 31
(A) 19 (B) 31 (C) 33 (D) 34
(©) 33 (D) 34
80. Find the missing number from the given | 80. fmferiRaa e el # R v fAwed A
responses in each of the following e.cm I AT I BT
question. v L
Qes
? 15 P ! t;(l‘
MmN w2
| TS L
(A).223 Brogd e
g (D) 24 S (A) 223 (B) 224
81. Inthe following qu (t' 1227 . (€) 225 D) 22
related B o select e 81. ke : A Ry v fagedt # & wafad A
ate word frqm the given alternatives. 1 SR | "
Hour : Second : : Tertiary'f ? HeT  AES ¢ g ?
(A) Ordinary (B) Secondary WIRUT.: - @?ﬁﬁ 4
(C) Primary (D) Intermediar e ®)
1ary (C) s (D) A
[ )
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82.

83.

84.

Gopal said, pointing to Govind “His

father is my father’s only son”. How is

Gopal related to Govind?

(A) Grandfather ~ (B) Grandson

(C) Son () Father

If - stands for +, + stands for X, <+

stands for - and x stands for + find out
which one is correct.

(A)49x7+3+5-8=16

B)49 +7%x3+5-8=26

(C)49+7-3%x5+8=20

P)49-7+3+5%x8=24

In the following question, select the one

- which is different from other three,

85.

86.

877.

AT

alternatives.
(A)121 — 196
(@) 36 — 83

(B) 144 — 225
(D) 16 — 49

Mohan travelled westward 5 km, turned
left and travelled 3 km, turned right and
travelled 9 km. He then travelled north 3
km. How far he is from the starting

- point?

(A) 5km (B) 3km
(C) 6km (P) 14 km
Find the missing number.
1,1,6,6,11,11,16,7,7
(A) 13,11 (B) 16, 21
(©) 17,21 (D) 21, 16

If police is called teacher. Teacher is

politician, politician is doctor, doctor is

lawyer and lawyer is surgeen, then who

will catch criminals?

(A) Teacher ~(B) Doctor

(C) Police (D) Lawyer
A

Nt 4o

82.

83.

84..

85.

86.

87.

e gferm o Rietds wrr o, Rerd b

- URTIRIET, BT DI YpSIT?

EN

o ¥ M @ eiR FIN S

MoTer ¥ Mg &1 wm &y 27
(A) aTeT (B) drF
©C) = (D) o

AR e @ R B R X
o R & B e ) R D
fore &1, ar refefag § @ P-4 U@
L

(A)49X7+3—:—5-—8=16

(B)49 +7 x 3+5—8=26
(C)49+7—3X5—1—8:20
(D)49—7+3—:—5><8=24

frfafeg & @ @Rl @& S9 SIS @I
v o g T B e # W (IO
(A) 121 - 196
(C) 36 — 83

L)

(B) 144 — 225
(D) 16 — 49

e 3 ufdad @ SR 5 fhamey @ AT
1, qrll @R gHER 3 [l @1 A B,
R TRt eiR gEeR o faheer @1 A
) 98 R SR @) SR 3 fdeler |
a8 URAE @ 9 fea w87

(A) 5 fon.
(C) 6 fdil.

B) 3 .
(D) 14 f&H.

faer St # g e = Bifei |
1:4.6. 6,011 1622

(A) 13,11 (B) 16, 21

© 17,21 (D) 21, 16

B TAT THIA B Aol bET Y,
(A) FRreres

(C) gfer

(B) Sfqer
(D) gabTet ‘

U
‘(\QX\

) _ '
9."“/;7? :5% 5] Qsﬁ‘“




89.

90,

91.

92.

Two statements are given followed by
two conclusions I and II. You have to
consider the two statements to be true
even if they seem to be at variance from
commonly known facts. You have to
decide which one of the given
conclusions is definitely drawn from the
given statements.

Statements
Some Indians are educated
Educated men prefer small families

Conclusions

(D) All small families are educated.

II) Some Indians prefer small families.
(A) Only I follows

(B) Only II follows

(@) Both I and II follow

(D) Neither I nor II follows

In a row of 16 boys, when Prakash was

shifted by two places towards the left, he
became 7" from the left end. What was
his earlier position from,the right end of
the row? '

(A) 7th (B) 8th

(©) 9" (D) 10"

Find the missing number from the given
responses in‘each of the following
question.

125 2

(A) 127
(€) 216

(B) 31
(D) 328

Which daughter of Haryana has made a |

national record for making 3 '

‘ g 3 mm boat?
(A) Aqlgta Df.:S&l: (B) Kavita: Sharma
(C) Urjit Gopmath (D) Sakshi Garg

lEiow many Haryana Police personnel
Nzll.ve' been awarded the Union Home
Inister Medal in January 2020?

(A)S

©)7 Eg))g
P— M
M =i R
& — D

88.

89.

90.

91

92.

\WVN“’\
= V= - :

(A) 127

(A)%ﬂﬁ@élﬁmﬁ
(B) Baa faeepy 11 Feherc 2|
(C)ﬁ&m‘lmmll,aﬁiﬁﬁm%l

-(D)maﬁﬁﬁﬁﬁl%ﬁré’rﬁrﬁﬁénﬁzﬁaﬁ

gl

16 oret @ U@ dfed # Sa el Bt Al

3R 2T I IR (Rerapram)fepam 1T,
a?a%mﬁﬁ{%ﬁmﬁwltﬁﬁiﬁ
aﬁmﬁwﬁ{éﬁuﬁr(q@aﬁ?w)
7 oA1?

(A) 7dr (B) sdi
(C) ot (D) 10@i
g wer # fau g fawedt |

(]

125

(B) 31

(C) 216 (D) 328

| gﬁarvn‘a%ﬁméﬁﬁsw’aﬁaﬁéaﬂﬁ

T TR Rafe gm T 27

(A) sifthar <9 . (B) - faar wrdf

(C) -sfita mdrarr (D) areft Tt

gRamn g @ fba SaEl @l CECE]
2020 ﬁ'ﬁﬂ.ﬁﬁaﬁmﬁmﬁﬁﬁm

=14 ,
(A)S5 (B) 2
(&N (D) 9




Stop Center Sakhi i
(A) Karnal C 3"
(C) Ambala

96.

(A) Aman Malik
(B) Kuldeep Chahar

(D) Navdeep Saini
08. Which Haryanvi

(A) Savita Poonia

mining?

organized?
(A) Surajkund
(C) Gharaunda

and  Child Develo
Kamlesh Dhanda in

Q(;;ﬁlzr& () tﬁeb One

In which district did the Governor of
Haryana hoisted the flag on the occasion

of Republic Day 20207
(A) Hisar (B) Karnal
(C) Ambala (D) Gurugram

97. Which player from Haryana has become
the 229th ODI player of India?

(C) Yuzvendra Chahal

conferred the Sports Person of the Year
2019 award by FICCI?

(C) Kamlesh Kumari (D) Rani Rampal

09. Which scheme has been launched by
Haryana to keep a watch on illegal

(A) Jan Jagran Yojana
(B) e-Ravana Yojana
(C) e-monitoring scheme
(D) Tracking scheme
100. In which city of Haryana was the 6.8.th
All India Police Wrestling Competition

(B) Kaithal
(D) Panipat

player has been

(B) Deepti Rani

(B) Palwal
(D) Gurugram

aryana's Women | 95. W 2019 H BRI B ‘Higl UG qref
pment Minw&r

Drmati 9. wRuom ¥ gocs gew T Cewn
) ormat .
OrtaI_ in Haryang ation Platfory, | - e vy BT @ G S v TR 8 9
((gg ?nance Department (A) fa1 femrn
entral Menta] Depy (B) @ty wfie fawr
(ONITI Agygq T oriment (©) #fy ami
gl)) Health departmem (D) W@y favmT
OW many h Lo
the POwer)gup(;;rS };as"geen Nreased in | 94, W9 2021 ¥ eRavw § fowE B & R
in Haryana in yoqr gy o 10 16 ormers | e ot ané 9 fomt 2 ) 9% o
' 2
((‘é) Z hours (B) 2 hours ™
) 4 hours (D) S hours (A) 3 52 (B) 2
95. In which district dig (€) 4 ue (B) Bee

fara w=ft Forr afer 7 fom Rrel § @9
Y Aex T T Igre fbar?

(A) TRAT (B) dore

(C) sraren (D) wrHige

96. TUIH Q¥ 2020 B AW W ERIOT B
RIS | f 7§ gier wevy 9

(A) fear (B) AT
(C) ermer (D) U
97. &RAT BT FF W1 RaArSt WRa @7 200 T

Thfead Ry a7 22

(A) 3 Hferep

(B) FeraTd TR

(C) ads weer

(D) Fadig Jr

98. fdw =RA Reard @ ‘FICCI” d
"WICH W S T $IR 2019 R ger |
foar 2°
(A) Bfaar gfvar (B) @fg <=
- (C) FHeIE B (D) T T
09, BRAMT 7 Ny W W FARET W @
ferq PIA-2 AT % @ 82
(A) S SRV IIoT=1
(B) $—=amT AT
(@) 3-FrRET Qe
(D) @I AT

100. ‘saﬂm?%mg%ﬂﬁ%ﬁ’m
BT SIS BRATT & for weR A
. :

(A) XSTHs (B) yetaer

(C) =T (D) T

14
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